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CG-11-2020
WINTER EXAM 2020
Subject Name : SA-87_Public Administration-Urban Local Govt- in Maharashtra — XII (CBCS) (DGE-
I1)_VI1_19-03-2021

Date : 19/03/2021 Duration : 60
min.
Instruction / T / -
* Follow the detail instructions given on OMR Sheet
* 3 UA AR ST § FATS Aleled .
QA1
What is the process called when people from rural area migrate to urban area ?
TTHIUT SIS cileh Sicgl AR HIEhS TAATART BldTd gl AT IThdd 1 FgUTAT?
Alurbanization [#TRYE<T] Clruralization [am#fofiaoT]
BlCentralization [&&/aoT] DlNone of the above [afier ST T8
Q.2
How many municipal corporations are there is Maharashtra at present ?
HERTSETT AT fohcll AGTHIRYT oI 3 d?
Al]26 [26] Cl28 [28]
B]27 [27] D]29 [29]
Q.3
The minimum population of a city is......... required to establish a municipal corporation.
HETIR YT olehT TUTT XUITHTOT eIl AAleh T & hHTT AT 37TET ST,
AlTwo Lakh [g1 @] ClFour Lakh [aR @r@]
BlThree Lakh [T @] DlFive Lakh [qrer am@]
Q.4
Accordingto .................. constitutional amendment, there are reserved seats for schedulted castes and Tribes in proportion to their

population in Urban Local Government.

HCATGEENTHAR AR TUTiieh ARTATHED HTE T STl T STHTAETST AT AlehEEAeAT FHTOT I S 3.

Al72nd [72 @1 Cl74th [74 4
Bl73rd [73 4] Dl75th [75 @M
Q5

Which of the following cause accelerates the process of Urbanization ?

TelTeTieh! HIUTCAT HRUTHD AGAOMEAT FshAH AT JHTell 38?
A]Unemployment in rural areas [ITHIOT ATl

SSTITRT] Clattraction of urban amenities [2Tg<r SIERIEIC )
Blindustrial development in the city [2rgXreiTer 3itezfares DIAIl of the above [adier 3T @]
faera]
Q.6
What is the tenure of the Mayor ?
HETIRTAT SRS Rt auTar 3rdar ?
Alone year [T& @] ClTwo and half years [378ra ad]
Bltwo year [aleT aﬁ] DlFive years [dTd a‘é‘]
Q.7

What is the current percentage of reservation for women in the Municipal Corporation ?

AR olehd AT ATGIATS! fohc Tardh 3TIRETOT 312
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A]33% [33%] C155% [55%]
B150% [50%] DI60% [60%]
Q.8
The tenure of Nagar panchayat is ......... years.
AlThree [de] ClFive [ara
BlFour [@m] Dlsix [#rem]
Q.9

Which of the following problem is seen in urban areas ?

QAENATITT WTeTTordehT SIOTe FHET fogget A ?

Alslums [siraETg] ClTraffic [Regr]
BlPollution [srewon] DAl of the above [afrerer #d]
Q.10

74th constitutional amendmentis related to ............

74 A geAgeEd Tl efid 3.
Alurban Local Government [TFTSY ETfaes md=T] Clstate Government [IT52 2=
BlRural Local Government [3rmioT Tameies Qmae] Dlcentral Government [&g 2]

Q.11
The............ is the Chief Administrative officer of the Muncipal Council.
BT ATRARSEAT HET TR RAHRY 318,
Alchief officer [AEaTfRsr] Clpivisional officer [fasTmemr 37t
Blcommissioner [3MgeFd] Dlsub divisional officer [3afasmaier 31RaRY]
Q.12

................... can be established for areas with a population of 10,000 to 25000 and urbanization is taking place.

ZET BoIR o TR §oTR Sl HET 3T T QEIH0T B T iedT HRTHTS! TATY AT A

A]Municipal Corporation [HgTeaRUTTelehT] C]Nagar panchayat [FTeRYaTId]
BlMunicipal Council [F1X 9ftse] DlGram panchayat [Fmardamd]
Q.13

How many types of Municipal Councils exits in Maharashtra?

ARSI Rl YehRear AIRURWer 31fedcard 3med?

AlTwo [&1] ClFour [aR]
BlThree [ DlFive [ama)
Q.14
The Mayor is also known as the ........... citizen of the city ?
HETARTE 2rerem TR FEUTET 3T Sil.
AlFirst [gr2r#] ClThird (e
BlSecond [Red] Dlrourth [Tqd]
Q.15

Who is responsible for holding Urban Local Government elections ?

AR TTeeh MEATET fHaSUThT STl STETEERT HIOTaT 3 H?
AlCentral Election Commission EERACCECIR Il ClBoth option (A) and (B) are correct [TITT (A) T (B) &Y aX1aR]
Blstate Election Commission s feasoreh 3] DlBoth option (A) and (B) are wrong [T (A) & (B) aleer g

Q.16
Which of the following issues arises due to increasing slums in the city ?
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ATGCAT SNISYZATHD BTl WleTTeTehT HIUT FReT fAATOT BT ?

AlHealth problems [3RFS faw=es Te+T] ClEncroachment issues [3ifagaoTRY F2sd]
BlLaw and order issues [T @ GegaEdd gea] DIAll of the above [after 8T @d]
Q.17
The............... has the right to dismiss the Municipal Council before the end of the term.
AITRARYET FHdehTel HIUITYAT AT S HIATHT HARN ol 3l
Alstate Government [(To3 EX&FR] Cloption (A) and (B) are correct [937 (A) & (B) aleT sR1eT]
BlCentral Government [§g ¥3&R] Dloption (A) and (B) are wrong [T (A) T ( B) &l=g! Ieh]
Q.18

Which of the following is causing problems due to increasing traffic in the city?

AGUHEY ATGcAT TGERIHD WTTTeTIehT HIUTC FHEAT AHTOT BT 38 ?

AlAir pollution EEERCAR! Cloption (A) and (B) are correct [T (A) T (B) &Y aR1eR]
BlSound pollution [eaet geyoT] Dloption (A) and (B) are wrong [T (A) T ( B) aleg! Teh]
Q.19

Which of the following measures is being taken to curb the increasing traffic in the city ?

UETHEY ATGT IGGRTAT TSI ETIUATATST WelleTdehT HIUTAT 3T FHI0ATT A 31?2

AlNo vehicle day [aTe=T ufaetren fawd]
B y ClTravelling by public transport [ATdsTfaa aTgeITaT ara]
10dd and even numbered vehicles rule [@H-TawH DIl of the ab [ _\qé]
. of the above [aRer <hr
qIgel AT [gH]
Q.20

Which of the following measures need to be taken to slowdown Urbanization?
ATITNHIOTTAT J3T HAHT FUATHTS WeiTeTdehT SHIUTAT YT 0T IS 37Te.
Allndustrial development in rural area [FITHIOT HTITTA

et em)] Clstrenthening of agriculture [T SE&FHIEOT]
BlDevelopment of agribusiness [2rT eh SIAHTATT DlAll of the above [after 8T &d]
o]
Q.21

Commissioners of Muncipal Corporation are appointed by the.............

HETTTRIoIeAT YT A0S g g,

AlCentral Government [§g TX&HR] ClLocal Government [F2fae TRER]
Blstate Government {131 TR&R] DlNone of the above [after 8T A8
Q.22

If the no confidence motion against the president of Municipal Council is rejected, it cannot be revoked for at least......... .

AIRTEHETAR JATOTRHT Ielell TTARATH S Tehel heTasell Ned df Gogl fhaTe 3TTOTAT 3 AT,

AlThree months [d1eT #f2=] Clone Year [o& ad]
BlSix months [@&T #fga] DlTwo years [ @]
Q.23
To whom does the Mayor submit his resignation?
HETAR 3T ITSHATHT VMRS ST ?
Alpictri [EEAIBEAry!
D'StnCt_ cqllector[ « . . C]Divisional commissioner [%aqwhzrama—?ﬂ
B]Commissioner of Municipal Corporation D 2
(PRI ] INone of the above [after §T AT
Q.24

Which is the most polluted city in Maharashtra?
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FERTSSICTel Hallftidh TEWoT 3rfelel 2T 10T 318 ?

AlBhiwandi [fad] ClNagpur [Fmerg]
Blpune [qo1 DINashik [TRre]
Q.25

Which of the following committees appears in the Municipal Council ?

AIRIREGHEY TTeAeTdhT VT FRA 3Eear fGget I 2

Alstanding committee [Eit GfF Cloption (A) and (B) are correct [997T (A) & (B) leT sR1eY]
Blsubject committees [feT affrean] Dloption (A) and (B) are wrong [T (A) 7 (B) &l=dT T&h]
Q.26

Which of the following Organizations is not involved in Urban Local Government ?

GrelleTdehT ShIUTeIT GEAT ATIRY TATA ATHATT GHTAL Bie ATl ?

AlMunicipal Corporation [FET-eRUToH] ClNagar panchayat [/°IX =]
BlMunicipal Council [/1oR aftwe] Dlpanchayat Samiti [Farard afad
Q.27
Which of the following is /are the benefit of Urabanization ?
WTeleTeh! ShIUTAT ARRIHIUITET BT 38?2
Alindustrial development [3ite e faera] Cloption (A) and (B) are correct [937 (A) T (B) 1T sR1eT]
B]Oportunity of employment [QIsTeTRTT TefT| I:)]Op’tion (A) and (B) are wrong [T3TT (A) T (B) &legl ]
Q.28

Which of the following is /are the feature of the 74th constitutional amendment act ?

74 ST TECAIGHECTY WeleTteh! IUTd dfRIsed 317e?

Al L . - f
Provision of State Finance Commission [T I9e Clprovision of reservation for Backward classes [FTRTRIGaITHTST 3ReToT
AT TE]

Blprovision of reservation of Womens EIRRIRI) o
[ DlAll of the above [a8rer 3T |4
JRETTRIT RIe)]
Q.29
What is the importance of Urban Local Government ?
AR Tnfae TEAR Agcd T 378 ?

AlTraining center of Democracy [elaF2Err SfRraToT &g Clogi
ion
BlEffective for solving the local problems [€Tfee P
RAATHT HISTUTeh FHIUATATST THT]

(A) and (B) are correct [9IT (A) T (B) alear sRIsX]
Dloption (A) and (B) are wrong [921T (A) T (B) 21=€Y ]

Q.30
"It is internally managed and small decision- making and functioning power rather than a complete state' . This statement is related to

* quT TSATNGST 3ol Tsear yafere 3nfor argret ataTd fvTer aondy @ Frifead HomY dedr g1 § faem off Fafdra 3mg.

Al ocal Government [TaTfie mEs] Clcentral Government [hg o]
BlState Government [XTs=r 2] DlNone of the above [aRer 8T ATEY]
Q.31

Urban Local Government is useful for developing local leadership' . This statementis ..............

“ A TS AT § TR Acarar [y HIvArarer 3uged 31Te. ” & e 3R,

AITRUE [sR1sR] Clconfuse [feet]
BIFALSE [g=] Plout dated [srerse]
Q.32

Discharge of sewage into the river increases ...................
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AETcher HSUTON ALHES HSeAHD ared.

AlAir pollution [gaT SeyT] Clsound pollution [&a=tr FewoT]
Blwater pollution [srer U] DINone of the above [aRer 8T ATEY]
Q.33

'The 74th constitutional amendment act has made a number of important provisons regarding Rural Local Government' . This statement is

“ 74 T AT GHEH HIACHTA ATHCT FATTA ATHATHT 3e1eh HgedqoT cReel hedl Ted.” § faume 3R,

AITRUE [sRYsR] Clconfuse [aféet]
BIFALSE [g=] Dlout dated [aFreramea]
Q.34

Which of the following is/ are the function or Urban Local Government ?

TTeTIhT VT AFRY TATfeTeh AT 1 38?2
Alpublic health functions [aTdstfere Tareer fawa #f] ClSocial welfare functions [GHTsTaReToT fawres F1¥]
BlEqucational functions [f21aToT fasres &) DlAll of the above [after 8T &d]

Q.35
Anderson describes which of the following feature of Urbanization ?

TSHe Tloll ARSI WTelTelden HIvTd afersedr Aifdrder 3me?

AlMonetary economy [HaT 3] Clinnovative change [3if3=a aRad=]
Blcultural change [AiEp e qRacs] DIAll of the above [aRer YT @d]
Q.36

What measures need to be taken to solve the problems of Urban Local Government ?
ARRY T LMHATTIT FHEAT IS [AUATATS! HIUTAT ST 0T IR 37T ?
Alplanned development of towns [«RTAT fHATeTeT st
ICEQE: Cloption (A) and (B) are correct [T (A) T (B) &leT aR1eR]
Blincrease the opportunity of employment [ISRTRTZAT D]Option (A) and (B) are wrong [T3TF (A) T (B) a’ﬁ?rq\%]
AT dT6]

Q.37
Which of the following types of functions does the Urban Local Government have to perform?

AT TATAF ATHATH TN SHUTAT FehRET ST HdT ST ?

AlMandatory functions [31far &) ClBoth option (A) and (B) are correct [TITT (A) T (B) &Y aX1aR]
BlOoptional functions [¥fas | DlBoth option (A) and (B) are wrong [937 (A) o (B) aleel Teh]
Q.38

Which of the following social effect does Urbanization have ?
ATTRIAIOTIHGS TTelTeTtehl SIOTAT HTATTST TRUTH Elet 3rEelel et Aar?
AlThe family structure is changing [Fea T aRacd=

gId 37e] ClThe spread of education is increasing [fRT&ToTraT SHR aTed 3M2]
BlHelping to raise the status of womens [Afgaiar €@t PlAll of the above [aRer 3T &4
3ATGUATH Fed gid 371e]
Q.39

According to the 12th schedule of the constitution of India, the number of subjects that the Urban Local Government has to deal with ?

AR AT 12 227 TRRISSTER AT Fu1foieh Qe el s srquene srf #rd orerdrd?

Al18 [18] Cl22[22]
BI20 [20] D124 [24]
Q.40

' The 74th constitutional amendment act gives constitutional status to Urban Local Government' . This statementis ..............
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“74 T UCATGEE HIACATHS ATRY TUTfoteh ATFATH HTCHS Goll TaTel HUIT JTell Ie.” § faeme g

AITRUE [sR1e7] Clconfuse [@fées]
BlFALSE [g] Dlout dated [&reraTed]
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